4. o T

1. W% CTIGER’ & sl & ¥ fd e bxci 4 be + ca= 0% T

o § R wR R W T IR o 8, @ PR ¥ ¥ A
w1 @R

L2 72 () a+b+c=0

() 36 ) a-b+c=0

© 18 © a+b-c=0

@ 12

@ -a+bte=0

2om R o s p, whw

*2+pr+g=0F 7@ §1 W o I
um.ﬁ&mﬂsun+§+=ncw.\umw.
A+ A Y ?

5.7 AR o 3R B (a> B), AT
Pogrtg=0F TR
aft o2- p2=16%, | gF T T

®7?
@ pP+¢+pg @ -15
&) pPP+a-pg 10
© PP+q*+3pg 10
@ p>+4°-3pg @ 15

3.7 T a R g, wiTT

P2—ax—bx+tab-c=0%TF € | 6. n & T Ifuwan WA F g, e

a8 FA-a1 e adftew € e 5w forg (301 +351), 57 @ forsw ®, SR A
asRpE? T A e ® ?
(@ 2-ax=Px+af+c=0 @ 4
®) P-ax—Pr+af-c=0 ®) 6 ’
) xu+§+mx+,pm+nuo © 7
@ 2+ax+px+af-c=0 @ 8
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1. How many permutations are there of
the letters of the word ‘TIGER’ in
which the vowels should not occupy

the even positions ?
(@) 72
®) 36
(©) 18

@ 12

2.Let @ and B be the roots of the
equation x>+px+g=0. If a® and
P? are the roots of the equation
x2+mx+n=0, then what is the value
of m+n?

@ p*+g*+pg
® p*+¢*-pg
© pP+¢*+3pg

@ pPP+q*-3pg

3. Let a and B be the roots of the equa-
tion x2— ax—bx+ab—c=0. What is
the quadratic equation whose roots are
aand b?

A.mv P—ax-px+af+c=0
®b) 2-ax-pfx+af-c=0
© 2+ax+Px+af+c=0

d P+ax+px+af-—c=0

4. If the roots of the equation
*—ax—bx—cx+bc+ca=0
are equal, then which ome of the
following is correct ?

(@ a+b+c=0
) a-b+c=0
(€ a+b-c=0

@ -a+b+c=0

S.Let a and B (a>pB) be the roots
of the equation x> — 8 + g = 0. If
a? — B2 = 16, then what is the value
of g?

@ -15
®) -10
@© 10

@ 15

6. What is the maximum value of »n such
that 5" divides (30! + 35!), where n is a
natural number ?

@ 4
®) 6
© 7
@ 8
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7. uﬁx:,&axnx_Vi:x??_?
S5(Sx4x3x2x1) + .. sy, svavis ¥
waquxmxmx»xwxwx_v.ﬁ A

R ?

(@ 11!
@®) 10!
(c) 10+10!
(d) 11+10!
8k A={{1,2,3} }, N4 & W@

e (WK W) d v s
;e

@ 1
®) 2
©) 4
@ 8

9.afg a, b, c U AR (GP) F &, Wl
a>0,b>0,c>0%, @ Frafafea &
I A E?

1. a2, b2, c? UK Avit (GP) & §
a w. u%mz ol (GP) & §

3. a, b, Ve TRR It (GP) F £

T R Mg = W R @ W
T :

(a) aw 1 3R 2
@) Faa2 3Rk 3

2, <

SDFR-S-HTM - D

(o ¥ 193
@ 1,293

MR TELIS bite g R )
M ﬂﬂ?ﬁmmw%.ﬁa%
£
@ a b, cwaC Al (aP) F &
® su.nm&ﬂw&BSww

@ a+b, btc cta TR Boft
GpHE

@ a+b,b+e,c+aTARR it (AP)
&%
11. cot?15° + tan?15° & A FT ® ?
@ 12
o) 14

(©) 83
() 4

12. 7 fw 4BC H,
sind —cosB—cosC=0 % |
F10 B fras weR R ?
@ %

z
® 7

©)

Wy

@

Sl

7. What is the value of
nﬁnxC+u3x~x_v+a3xuxmx:+
5(5%4%x3%x2%1) + cvive vevees annn.
wﬁcxmx.?mxuxaxuxnx_:wq
(a) 11!
®) 10!

() 10+10!

(d) 11+10!

8.If A={{1, 2, 3}}, then how many
elements are there in the power set
of 4?
(@ 1
®) 2
© 4
@ 8

9. If a, b, c are in GP where a >0, 5> 0,
¢>0, then which of the mc:oﬁEm

are correct ?

1. a2, b2, c? are in GP
2. W. W“Wﬁoimw

3. a, 4/b, ¢ are in GP

Select the correct answer using the
code given below :

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1,2and 3

10.If 8+b 5 b+c g in Hp,
272

then which one of the following is
correct ?

(@) a, b, c are in AP
() a, b, c are in GP
(c) a+b, b+c, c+a are in GP

(d) a+b, b+c, c+a are in AP

11. What is value of cot?15° + tan?15° ?

@ 12
(®) 14
© 83
@ 4

12. In a triangle ABC,

sind — cosB—cosC=0.
‘What is angle B equal to ?

@ %

()

ENE]

-
&
[SIE]

D - SDFR-S-HTM



13. 3R} n+mu.n|.uﬂ.ﬁn_u:nn_¢.
N tan2p ek TR R ?

@ 3§

o 2
©) m
@ 3

14. 3R tan(45°+6) = 1+sin20 &, &t
|mAmAm R, @ cos20 F WA I
R
@ o
o 3
© 1

@ 2

15. 7 T sin26= cos36, et 6 TH
AR R | A 1 +4sinf F WA T
27

(= foar w7 2 f5 sin1ge = )man_

@ 3
‘®) 2
© 5
@ 3
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| g e W R o
_a.a
=g

(@) |m\.m

1
ala

®
A
o

17 ﬁmlwuns w1 WO (ARTEE)

slg &

2 2
wR?

@)

N

®)
©
@ NNS‘

18. Prafifea w94t w fmr fifva -

1L 2 6% fora &, et n>3 8

Il NI

N.ml.m+u.q.wwgﬂw.4ixvu.w
I # ¥ FA-A1/FN-] T @
/& ,
(a) ¥aw 1
() ¥ 2
(©) 1323t pac
d TR L,Ad2 ,

n
13.1f a+ p= 7 and 2tance = 1, then what 16. What is the principal argument of ~|L_1|_

is tan2p equal to 7

where i=+/-17
@ 3 @ -3
(®) w o -F
© 32 © %
& @ Z

17. What is the modulus of
14.1f tan(d5°+0) = 1+sin20, where - ﬁJTu QNS w

I$AQAW‘ , then what is the value of 2552
cos26 ? @ m_m
@ 0 1
) 3 ® 3
® 3 © 1
© 1 @ 2°%
h @ 2 18. Consider the following statements :
e : L wl_. is divisible by 6, where n> 3
\ 15. Let sin20=cos36, where 0 is acute
{ A angle. What is the value of 1 +4sin6 ? nt
o1 : 2. ﬁ +3 is divisible by 7, where
(given that sin18° == ) n>3

‘Which of the above statements is/are

(@) V3 correct ?
®) 2 (@ 1 only
(b) 2 only
© 5 (c) Both 1 and 2

@ 3 (d) Neither 1 nor 2
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19. o Rt 3 3 s R M ww dm 22 9R Pl e (AP = 57 g

19. In how many ways can a team of 5

Tt Tt @ Afs QA T | players be selected out of 9 pl. 22. If the 5% term of an AP is % and its
h h 1 LS v Ayers i )
o @m._@wwww .....,MW A N_dﬂ.w @1 s _I_Q ? o 110713 5 & as to exclude two particular E»Wﬂu,wo 10 term is W. then what is the sum of
T2 ' 50 W&} 1 AW T BN ? R,
‘ @ 14
25 (@ 25
(@ 14 (a) o5 51
" ’ 255
& 6 258 © 35 »
() 35
.. © 26 @) © 26
2
) 2 @ 265

20. T+$§ ¥ oWwR ¥, v W R

(+)T W A (W W x F
FRE wE § @ ) ¢

@ C@2n, n)yx
®) C@2n, n—1)x
(©)/C@2n, n)
@ C@n,n-1)
21.afk foRel wwiR it (AP) & wam 9
TR F AR, FEH WA 11 6L %

ANMHT & IR B, A TEE WIAT 20
3l AR HT R ?

_fa) 20
(b) 10
© 2

@ o

23. (1110011), = (10111), fFESd =R

?7?

(@ (101),
() (1001), .
© (111),

@ @oi1)y,

24. 9t x3+3 = (100010111), 3R x+y =

i), & @ -y +xy frus
TR R ?

(@) (1101),
(b) (1001),
(© (1011),

@ @111),

HNH

x

20. In the expansion of ﬁk+lu , what is

the (n + 1)th term from the end (when
arranged in descending powers of x) ?

(@ C(@2n, nx
®) C@n,n—1x
© C@n, n)

@ C@2n,n-1)

21. If the sum of the first 9 terms of an AP
is equal to sum of the first 11 terms,
then what is the sum of the first 20
terms ?

(a) 20
() 10
© 2

@ 0

23. What is (1110011), + (10111), equal

to?

@ aon,
® (1001,
© i,

(@ (011),

24. If x3+y3=(100010111), and x+y =
(11111);, then what is (x—y)?+xy
equal to ?

(@ (1101),
&) (1001),
(c) (1011),

(@ (111)
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ot 28, v el el & e WA
25. srafir

25. Mo_._mhan.ﬂ,_bnn“_aoa:m:o:u 5 28. A radioactive substance decays at a
e % T x4y + 12 , x+y<2,x<0 and rate proportional to the amount of
4y+12 <0, x+y<2,x<0 i u wt R Wa“” 100 @at 3 e r>0. s_.nv one of the following substance present. If half of the
Sx—dy iy TN R fe 3 . points lies in the common region ? substance decays in 100 years, then
y> 0w fraw Hif | N e RS (arvgenferasan what is the decay constant (propor-
AR dar & @ (0,0 y (prop
-w fag wife @ i) T # 2 , i tionality constant) ?
@ (,0) { ®) (-2,4) a
® 2,49 @ 5 © 1.9 ® 100
) -1,4) @ (1,2
( Ins ® 5
@ 1,2 ® 100 100
s s 26. A.uoamEQ. »Eo». szoém.“m _ statements 10
SR =[x, xe(-1,1) ¥ W in10 . in respect of the function y=(x], L
26 y=U ng $iftra, vt © To mmﬂlr _»N_bivn..a [] is the greatest © 100
Frafifae Fwt w R integer function :
[ e s wew R 21n2 ] o 2in2
e @ 25 : 1. Tts derivative is 0 at x=0-5 @ Foo
1. x=0-5 R TH T
) . ; 2. It is continuous at x =0
2. 9% x=0-5 W &9 § : 2 i { 29. What is the domain of the functi
g 29, w1 .\.@vua Mu RG] *,, WHIS ot B fiormts b ! is the oBBN.n of the ction
I # ¥ FA-A /AR T T 27 i correct 2 S@=1-G-1y 2
R/E? _
@ © 1) ” . (@ 1 only @ O, 1)
@ ¥ " “_ ®) 2 only z
. o 1,1 i ®) -1, 1]
®) Fa 0.2 () Both 1and2
PR © (O, © ©,2)
© 1 0.2 (d) Neither 1 nor 2
@ TRLAE2 @ ©.2 @ 10,2]

- 27. What is the de; f the diffe tial
2 2 w 30. 9&Gad u‘NlANN Wﬂﬂ Mﬁw ﬂﬁ.?»la_m gree ol eren
27. FEEA  FHE 1 ﬁvﬁu ﬁ u

Z == (d2a Yo TR whag & W S

5 249 TS B, VRl A>0R | AT AW
WU TR ?

30. The area of the region bounded by

dy 2 a2y w the parabola y? = 4kx, where k> 0 and
| equation —+hmu == .? its latus rectum is 24 square units.
Sqe T 1 “ dx ‘What is the value of k ?
. 4 @ 1
4 1 - : 1 @ 3
@3 oy : , ® 2
®) 2 ®) 2
© 3 © 3 e 2
@ 4 i @) 4 @ 4
10
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1pg 111
aaRa =1 ¢ r|dRa=|g rr
1 rp rrd
ﬂﬂwﬂnﬂﬁyb_+>~w
@ 0
Pv.mwn.:aﬂﬂﬂ
“© @m TS

@ TR p, g, r WIE ¥ N A
S T

32. 7R (a-b)b-c)c-a)=2 3K
a b c
abc=6 ¥ W |a2 b? | W W
a b
M R?
(@ 3

\Qv%—n

© 14
@ 15

33. Pt & ¥ et SREE ¥ e

abc
ﬁﬂ?ﬂﬂ#ann u@@ﬁwo

cab
l.a+b+c=0
2. B3+ b +c3=3abc
3. 2 +b2+cE—ab—bc—ca=0
Y g g W o WA I
=g -
@\Wum_w_ﬂn
®) Faw2 3R 3
(c) Fa= 133
@ 1,23R3

SDFR-S-HTM — D

el A=(m n), B=l=n =m] sl
34.
Guﬁa‘w ¥ dau &t frafafea w

-m
R R :
. CA=CB
2.AC=BC
"3 cusB=CArE
; EE Aﬂdhﬂ\%hﬂ Fqq qQ
AN
(a) ¥« 1
) W2
© 23R 3
@ 13R2

2sin@ cos@ O
5.3 A=|-2cos0 sin6 O 2 R

-1 1 1
Aladjd) T TR R 7
(2) T3 ILE

oy -1

© I

@ 21

et 1 O T e © |
36. k¥ e v % fog s

2c0s20  2cos20 6
1-2sin’6 2cos?0-1 3
k 2k 1
FeeEiE R ?
(Y ¥4 0
) ¥ 1
) ¥ 2

@ Pt R arafrs mw
12

- .

111

l'pg

3L10A=1 g rlanday=lg r
1 rop

q9

rpgq
where p£ g7, then A, + A, is
(@ 0
(b) always positive
(c) always negative
(d) positive if p, g, r are positive else
negative
32. If (a—b)(b~clc—a)=2 and abc = 6,

then what is the value of

a b ¢

a*> v 2|2

@ » 3
@@ 3
® 12
@© 14
@ 15

33. Under which of the following condi-

tions does the determinant

abc

b ¢ a| vanish?

cab

l.a+b+c=0

2. @+ b+ =3abc

3.a2+b2+E—ab—bc—ca=0

Select the correct answer using the
code given below :

(@) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2and3

13

34. Consider the following in respect of
the matrices :

A=[m n}, B=[-n —m] and Ouﬁ.“u:”—
1. CA=CB

2. AC=BC

3. C(A+B)=CA+CB

Which of the above statements is/are
correct ?

(@) 1 only
(®) 2 only
() 2and 3
(d 1and 2

2sin6 cos@ O
35.If A=|-2cos@ sin® O], then
-1 1 1
what is 4(adjA) equal to ?
(a) Null matrix
®) -1
© I
@ 21

where 7 is the identity matrix.

36. For what value of k is the matrix

2cos260  2cos20 6
1-2sin’0 2cos?0-1 3
ok 2k 1
singular ?
(a) O only
() 1 only
(c) 2 only

(d) Any real value
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379 9T 4 T e I
SR B-adia ¥\ FoafiRem # R
-/ @ /R

1. 4B =BA

2. AB & IR Imegg ?

3. AB TF (@ I W A R
N Ry W = @ W '@ S
I
.&W,dﬂ
\A@Wﬁ_yﬁm
(c) ¥a= 2
@ 1,23R3

38. 9 R F o GH A WRBF
way § frafafee wwt w feEr
i :

1. A 4B @& Y@ aegg &, A IR
B#H A TH-A-FH I @ ™
g R

2. af§ 4B ©w aoHs A ?, @
BA=AB®

SEw # ¥ FE-A1 /-3 9T 6@
R/E?

(a) Fa«1

Y e 2

© 1R 23t

@ Ad 1,982

39.3f% 4, A 3 w7 w TwEE AR
R dR B ww ufed & @ s
C=A+B % arfies = 7 w1 & 7
@ 1
®) 2
&4

@ 8

SDFR-S-HTM - D

14

ﬁ..uﬂ%@ﬁ;sﬁwﬁ:ﬂ%#&

v oo 0 R & e A= 4
Mmaiua R Pefafe 3 R

-/ T T R/E
LAP=A

2. ABY=A’B

Y R g R H W W T IW
P

(a Fad
mvw e 2

. (o 123

@ ARNLTE2

t.hI&ohT&ww R # fr wg
27
fa) 9
() 10
() 19
@ 20
42. (F+)10% WOR ¥ ww # Prafafea
Tl | fER fiftg .
1w F wh et % ¥ 67w w
INE HAE Al
2. dR g = T, 97 W ¥ T
*F TR
STE F ¥ WG /F-T TGS
j/&7
(@) Fa=1
(b) FHaw2
© 13R23e
D) AR 1,2

L e s »—-»-'-.—,-z-v»r..-.u1

37.

38.

Let A be a non-singular matrix and
B=adjA. Which of the following
statements is/are correct ?

1. AB = BA
2. AB is a scalar matrix
3. 4B can be a null matrix

Select the correct answer using the
code given below :

(a) 1 only

(b) 1 and 2 only
(¢) 2 only

) 1,2and3

Consider the following statements in

respect of square matrices 4 and B of
same order :

1. If AB is a null matrix, then at least
one of 4 and B is a null matrix.

2. If AB is an identity matrix, then
BA=AB.

‘Which of the above statements is/are
correct ?

(a) 1 only
(). 2 only

~ (c) Both 1and?2

39.

(d)  Neither 1 nor 2

If A is the identity matrix of order 3
and B is its transpose, then what is the
value of the determinant of the matrix
C=A+B?

(@ 1
® 2
© 4
@ 8

15

40.

41.

42,

Let A and B be non-singular matrices
of the same order such that AB =4 and
BA=B. Which of the following
statements is/are correct ?

1. A2=4
2. AB?=42B

Select the correct answer using the
code given below :

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

How many terms are there in the
9 9

expansion of ﬁ—+Wu ﬁ_qu ?

@ 9

(®) 10

© 19

(@ 20

Consider the following statements in

respect of the expansion of (x+3)10:

1. Among all the coefficients of the
terms, the coefficient of the 6th
term has the highest value

2. The coefficient of the 3rd term is
equal to coefficient of the 9th term

Which of the above statements is/are
correct ?

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) - Neither 1 nor 2
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__5 @, < sin0 = WF
43.3R C@n, 2n)=C0n, 21-7) ¥ R 46, AR 1a00="73 b

& 7 43.If C(3n, 2n) = = .
Cn, n—5) W ¥R ? Q ? i Em. ﬂu_cwo_.n%h. ‘W_&.\W. then what 61t Eeulm. Yoo e B
5 -3t @ wwm value of sing?
(@) 42 @ 5 g 3 i 42
5 s
= but cannot be —5%
®) 35 5 s @ 3 5
® -13° frg du% ® wwn (b) 35
28 s N
. 5 5 (c) 28 (b) —73 but cannot be 73
@ 21 @\ 3 13 : : ; m
@ 21 JE I
Evdammmmwmww«_% © 30773

44. C(51, 21) - C(51, 22) + C(51, 23) -
C(51, 24) + C(51, 25) - C(51, 26) +
(51, 27) — C(51, 28) + C(51,29) -
C(51, 30) =1 WH 1§ ?

3 44, What is the value of (@) None of the above
47, cos* TZ +cos* S W W & 7 : C(51,21) - C(51, 22) + C(51, 23) —

C(51, 24) + C(51, 25) — C(51, 26) +

47. What is the value of
C(51,27)-C(51,28)+ C(51,29) —

16

C(51, 30) ? cost ZZ 4 cos* 3Z 9
@@ C51,25) @ 3 . (51,30) % 4 cos 3
A C(51,25 3
®) C(51,27) : 3 @ C(C ) @3
® 7
: ®) C(51,27) 3
) C(51,51)-C(51,0) o ® 3
©) 3 C(51,51) - C(51,
@) C(51,25)-C(51,27) © )-C(51,0) o2
) , c) 2
@ W g @ C(51,25)—-C(51,27) 8
45. 300 30X 400 3 = 3, A Frerht By @ =
& =g W s 3T , 3 45. How many odd numbers between 300 16
& e e ? 48. minﬁmi& éiANu& and 400 are there in which none of the
p Ry TR § 7 dipits:is repeated 48. What is manﬁmévnn:n@éu
a) 32 B
e
& sin20 < @ 32 equal to ?
®) 36 {0 (a) sin26
(b) cos26 @®) 36
© 40 (b) cos26
(c) 2sinf : () 40 (c) 2sin@
(@ 45 ;
(d) 2cos@ : @ 45 (d) 2cos@
SDFR-S-HTM — D )
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) 52 afe umm:n_v..anm\_aﬂ o® Wx Toray :
49. & FEMR TR e T | . 27 49. A vertical tower stands on a horizontal 52. If 3sin~lx + cos”lx = &, then what is x
T 2 IR S TR A Tl W& BAEE m_mao and is surmounted by a vertical equal to ?
il PN agstaff of height /. At a point on the
EAWEUE FEATR .ﬁM.w gty @ 0 planc the angles of elevation of. the (@ 0
Wﬂ W S T bottom and top of the flagstaff are 0
S o 0 3R 20 § 1 AR ®) .w. and 20 respectively. What is the height 1
& e w2 . of the tower ? ® 3
1
(@) hcos@ ©) )|\|.~| (@) heosé © 1
®) hsind _ ®) hsind 2
(©) hcos20 (Ol ] () hcos20 @ H\W
(d) hsin20 . (d) hsin20
53. 4 tana + tanp = 1 — tana.tanB &, wret 53. If p=1 B, wh
Mﬁ— % ¥ . tana +tanf =1 —tana.tanff, where
50. 919 GRS W SHGA R0 60° ¥ wfEfia tana.tanfi# 1 W.W ERE, ki 50. The shadow of a tower becomes x tanc.tanf#1, then which of the
T W B & N @ TR N w8 (a+f) T A metre longer, when the angle of following is onme of the values of
?7? . elevation of sun changes from 60° to 6. © (@+p)?
B x W = A S R | AR TR
& < G d, @ 3 3 If the height of the tower is +/3x metre, }
¢ 3x @ frfifes @ Z ; then which one of the following is @ Z
FH-TMEE B ? 6 correct ? 6
(@) 0<6<30° qum—w (@ 0<6<30° @v.ﬂh
(b) 30° < 0 < 45° ®) 30° < 6 < 45°
z U z
() 45° < 6 < 60° © 3 (©) 45° < 0< 60° © 3
Ad) 60° < 6 < 90° n d) 60° < 6 < 90°
@ 2 @. @ 7
51. af E_-_TYE_._TV"H 3, wet -1 1 a(5\_z
2 e 3 A= 54. 7R (1+tand)(1 +tan96)=2 &, @ SIFIE e hmuiﬁ A&IM- wheee 54. If (1 + tan@)(1 + tan96) = 2, then what
0<x<6%, a xfrad e g 7 tan(106) F1 # 1 R 7 0 <x <6, then what is x equal to ? is the value of tan(108) ?
@1 @ 0 @ 1 @ ©
®) 2 ®) 1 ®) 2 : @® 1
ey 3 @© 2 © 3 : () 2
d) 5 5
@ d) I « 5 (d) Infinite
SDFR-S-HTM - D 18 . 19 D — SDFR-S-HTM




§5. sin0° + sin10° + §in20° + sin30° +... +
sin360° T WA T R ?

(@) -1
®) 0
@© 1
@ 2

572 i wewt 4 R B % Wy F
frafafen Fw w fmr Sifig

1. xg(4UB) = xgA 44T x¢B
2. x¢(ANB) = x¢ A 3R xeB

IGE | ¥ BA-T /I T T
/8

(@) Faa1
(®) ¥ 2
(© 1323t
d) AW L,TE2

SDFR-S-HTM - D .

20

5. e w4 9 B % W
frafifrg el | FER R .

L Aup=4np R IR F ol
A=B

2. AAB= @R 3R ¥w AR 4=

I # A BE-w/FA-N T T
/8

(a) a1
®) Haq2
(©) 13R23mt
@ ANL,TR2

59.9R 2-5xy+472=0 % W xRy TR
qRarfya gl e F W= IN#
WY R &% R #§ Feafafes st w—
Eﬂ.ﬂ%ﬂ" f
1. REgE ®
2. R wHfE R

3. R S ©

S § A BA-ar /-y ww ae
?/8?

(@) Faw 1
®) ¥ 2

(© ¥ 13K 2
@ 1,23R3

55. What is the value of

sin0° + sin10° + sin20° + sin30° + .. +
sin360° 7

@ -1

(®) 0

© 1

@ 2

Consider all the subsets of the set
A={1,2,3,4}. How many of them are
supersets of the set {4} ?

@ 6

®) 7

©) 8

@ 9

. Consider the following statements in

respect of two non-empty sets 4 and B :
1. x£(AUB) = x¢A or x¢B
2. x¢(ANB) = x¢A and xeB

‘Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

21

58, Consider the following statements in
respect of two non-empty sets 4 and B :

1. AUB=ANB iff A=B
2. AAB=¢iff A=B

Which of the above statements is/are
correct ?

(@ 1 only
() 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

59. Consider the following statements in
respect of the relation R in the set IN
of natural numbers defined by xRy if
2-5xy+472=0:

1. R is reflexive
2. R is symmetric
3. R is transitive

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) 1 and 2 only
(d 1,2and 3
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60. Pl wg=w 4 W BRR R WU RF
i Frefifee =t w fer S

1. R REge §, AR g {

2. R Rwwh g, @ R R wha
R

3.3k R Swmw §, A R
TS ®

S § ¥ SR-w/A-A T @
R/¥?

(a) o= 13K 2
®) FaE23R3
© S 13k3
@ 1,23R3

61. frafafas % ¥ fom s & &
\?vu%|<|%.+ma+mwaﬂﬂ_w@
(a) ¥ (o0, 1)
®) (1,6)
(©) = (6, )
@) (o, :ca,.ev

62.9R% x=2 R T f(x)=Z+2nr+1
N IEAS A ¥, W m+ 8n AW
MR

SDFR-S-HTM - D

22

@ -2

w o

© 2

(@) s T (F) F F Fruifa
ERcRIEIERl

63.9% y=x £ .zu»uwn d= #, wx

Aumgmﬁ_wmawmﬂwﬂ_ﬁms
27

@ 3w
®) wimﬂm
© wimﬂm
@ 1= =

64.qR xy=4225 %, & x IR y oA
@ ¥, A x+y W GAGH AW T

7 i
@ 130
(b) 260
(©) 2113
(d) 4226

am.iﬁsamu@uoﬁ%ﬂ@

??

(2) TF W W@I-g
() TF FA-F9

(¢) T&F Waed-gd
@) T defga-ga

60.

61.

62.

Consider the following statements in
respect of any relation R on a set 4 -

1. If R is reflexive, then R-!

> is also
reflexive

2. If R is symmetric, then R is also
symmetric

3. If R is transitive, then R-! is also
transitive

Which of the above statements are
correct ?

(@) 1-and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

@ 1,2and3

In which one of the following intervals

3 2
is the function f (x) = ‘WIW. +6x+5
decreasing ?

@) (e, 1) only
® 1,6 -

(©) (6, ) only

@) (=, 1) U (6, «)

If the derivative of the function

S(x)="2+2nx+1 vanishes at x= 2,
then what is the value of m+8n?

63.

65.

(a) -2
() 0
(© 2
(d) Cannot be determined due to

insufficient data

What is the area included in the first
quadrant between the curves y =x and
y=x7

(@) W square unit
1 .
(b) 7 square unit

© .Ml square unit

(d) 1 square unit

. If xy=4225 where x, y are natural

numbers, then what is the minimum
value of x+y ?

(a) 130
®) 260
(© 2113
) 4226

‘What does the equation hw —2y=0
represent ? 3

(a) A family of straight lines

(b) A family of circles

(c) A family of parabolas

(d) A family of ellipses
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66. R R (=5, 0), (5p% 10p) I
(5¢%, 109) T g €l §, & pg F
TR R, SR peg ¥ 7
(a) -2
®) -1
© 1

@ 2

67. € W W@ W W w71 R = fag
1, -2) ¥ oA § R I W =R
Sa:@s T § 7
@ x+y-1=0
®) x-y-1=0
(€) x+y+1=0
d) x-y-2=0

68.J6 9 W W w1 § S WAH
=gty # ST st sk @y -2=0F
el aRar @ ?

(@) x+y2—2x—2y—1=0
®) 2+)2+2x+2y+1=0

© 22+y2-2x-2p+1=0

@ 2+)2—4x—4y+4=0

mm;‘m.ﬂds -D

69, =il (-3, 0) M Fat x-3=0 an
e e R

@ =3
®) a2=12
© =iz
(@ y=-12x
70. g mi&i&%w% ]
RNQwR? :
@ 1
® 2
© 2

@ 242
71. 7 +ifg fRft fBom 4BC B et
BC, CA %R AB i\ W=Tat A a, b

3R c® | 3R pew Prger =1 wfem sik
nwmﬂfla_lw_mw g

P(p—20) tan (£ e s & 2 ]
@ ¢

®) 2g

© 3q

@ 44

66.

67.

68.

If the points with coordj
(5p%, 10p) and (52,
then what is the v.
p#q?

nates (-5, 0),
10q) are collinear,
alue of pg where

(@ -2
() -1
© 1

@ 2

‘What is the equation of the straight line
which passes through the point (1, -2)

and cuts off equal intercepts from the
axes ?

@ x+y—1=0
® x-y—-1=0
@© x+y+1=0

d x-y-2=0

‘What is the equation of the circle
which touches both the axes in the first
quadrant and the line y—2=07?

(a) x~+‘<Nn~.TeT_uo

C(b) X2+yP+2x+2p+1=0

©) R+ -2-2+1=0

(d) x2+)2—4x—4y+4=0

69. What is the equation of the para-
bola with focus (-3, 0) and directrix
x-3=07

(@) y*=3x
®) =12
(© =12

@ y2=-12x

70. What is the distance between the foci
of the ellipse x2 +2y2=17?

@ 1
® V2
© 2

@ 2v2

71. Let a, b, ¢ be the lengths of sides BC,
CA, AB respectively of a triangle 4BC.
If p is the perimeter and g is the area
of the triangle, then what is

p(p—24) tan m%v equal to?
@ g
() 2q
© 3¢
@ 44
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72,7 S Y@ x+2y+2=0 3
N..L\..-uuowﬁ&ﬁﬂww.uﬂds
2| T 9 wgaty A TR FETR
e 2| Sawsd ¥ Frdw wE
Qo TR ?

@ 2
®) 3
() 4
@ 6
73. f5 witest ¥ s Xamg

nn+vw+nﬂou‘4ﬂwx+n%+nuo
TR (@#0,b#0) T7?

(@) ¥ a—-b=0
®) ¥ a+b=0
(c) @-b*=0
) ab+1=0
74. @1 M+!H%uw fwis FEt A FeA
R WH Yaree ¥ wufag % fagma w7
wlERwr T R, (VR p T ATt
e R) ?
@ x-y=0
®) x+y=0
@© x-y=p
@ x+y=p

SDFR-S-HTM - D

= () B3 2a, 0) 3 (0, 3q)
d.wwﬂmmﬂc%ﬂw & a>0% @
frffaa R Y AW AR ?

(a) 2x-3y=0
®) 3x-2y=0
© 4x-6y+5a=0
@ 4x—6y-5a=0
w dm (03 W fg et w

._Wﬂﬂ%ﬂ"
100 3 ¥ SR T AR F T W x;, X,
X35 e X ¥ fraert =1 ot AW 20 ® &R
02 & ¥ o T T AH F WA H
fraert 1 st A 140% |
76. WL 1 A TR ?
@ 91
®) 96
(c) 98
@ 99
77. 99 & A 1% WY T WA F W *
foraert =1 <frofrr Fr T @ 2
@ 0
®) 10
() 20

(d) 40

72. A ) straight line Passes through tp,
point of intersection of x + 2y+2= M
and Na.l 3y=3=0. It cuts equal inter-
cepts in the fourth quadrant, What is
m__o sum of the absolute values of the
intercepts ?

(@ 2
® 3
© 4
@ 6
73. Under which one of the following
conditions are the lines ax + by + ¢ =0
wuawx+@+auov§_n_?ﬂo.
b=0)?
(@) a—b=0 only
() a+b=0 only
© a@-b2=0

d ab+1=0

74. What is the equation of the locus of the
mid-point of the line segment obtained
by cutting the line x +y=p, (where p
is a real number) by the coordinate
axes ? .

@ x-y=0
®) x+y=0
© x-y=p

@ x+y=p

27

75. If the point (x, y) is equidistant from
the points (2a, 0) and (0, 3a) where
a > 0, then which one of the following
is correct ?
(@) 2x-3y=0
() 3x-2y=0
(©) 4x—6y+5a=0

(d) 4x-6y—5a=0

Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x,, x3, ... x, measured
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

76. What is the mean of the values ?
(@ 91
(®) 96
(©) 98

@ 99

77. What is the algebraic sum of the
deviations of the same set of values
measured from 99 ?

@ 0
®) 10
(© 20

(d) 40
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78. TR » 3 A a1k Y T AW F WA
F et o ol A 180 R, Wy
T ORE TR ?

(a) 80
®) 8
() %0
@ 95

F A (03) vt F Ry felia @
(Rar) R fwr fifv

o A 51T g Wi Wi Ao
(AP) & &, fmw a1 @ 4 ® ok o 3
3R

79. VTHIH & WA TR ?
@ 67
®) 71
©) 75

@ 79

80. Wit Y mfeyenr 71 § 7
(@@ 795
®) 79
© 785
@ 77

SDFR-S-HTM - D 28

s1. wityw ¥ % 7 Beel | dve
FR?
(@ -1
® 0
© 1
) 2
F = 03) v ¥ fn fefiRa @
(Fer) W fEr $ift :
o A () F g 90 amew ¥ | T R
FoEEE E I TH AP R AT WA
& IFHE R |

wrawt | R-Eraet
$ wea 6 "wEm
THIA
3¢ & 18 9
s
EELE
H H 36 27
SR
7 wifT G 98 " @ T fm wed s
&1 gk o T 98 wew R AR T
=% W & T | T 3mes w1 aeeer

forr 7 Sq @ T 39§ @ AgwE R )
82. P(GNT) ford aem @ 7
(@)
(®)

©)

Qs VL wiN V-

@

78. If the algebraic sy
of the same get
from y is 180, th,
of y?

m of the deviationg
of valueg Measured
en what js the value

(a) 80
(b) 85
(© 90

(d) 95 -

Consider the following data for the next
three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

79. What is the mean of E.o marks ?
(@ 67
® 71
() 75
@ 79
80. What is the median of the marks ?
(@ 795
® 79
() 785

@7

29

81. What is the sum of the deviations
measured from the median ?

(a) -1
®) 0
(© 1

d) 2

Consider the following data for the next
three (03) items that follow :

There are 90 applicants for a job. Some of
them are graduates. Some of them have less
than three years experience.

Number of | Number of
graduates |non-graduates
At Jeast
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience.

82. What is P(G N T) equal to?
@ .
®)

©

wld wlw wniNn v

@
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83. P(GIT) fre¥ s & 7

(a)

~[

®)

~|w

©)

ENT[VIENTF

(C))
84. P(TIG) frms o ® 7

(a)

g
P

~
©
<

Hlw WnW W=

@
s = (03) v ¥ fog Frafafe @
(Fa1) w fa=r Shifsm :

fit wawm #, @ # fed Sk @
Bftq R 1 TeArsit i dwE 334% ¥

85. 56 amq it 71 Wik R % 6 Fmemd
#A99d & @ 3 IR 39 A A
ifsa < ?

80
@@ 729

10
® 57

SDFR-S-HTM - D

30

©)

@

86. = @ B = wiw & 6 6 TRt
332w A AR R

(@)

®)

©

@

87. 78 =T & a1 Wik @ R 6 IRt
F Y Y T G HER 6 SR A
difeq & ?

@)
®)
©

@

665
729

728
729

865
729

653
729

59
729

4

83. What is lo._d equal to 7

(a)

(b)

QD Qe 9N

©

@

N

84. What is lm_mv equal to?

@)

-

()

©

Blw  Ww W=

@

Consider the following data for the next
three (03) items that follow :

The incidence of suffering from a disease
among workers in an industry has a chance

of 331%.

85. What is the probability that exactly
3 out of 6 workers suffer from a
disease ?

31

(©

d

- What is the probability that no one

out of 6 workers suffers from a
disease ?

@

®)

565
729

64
729

. What is the probability that at least

one out of 6 workers suffer from a
disease ?

@)

®)

©

@

728
729

665
729

653
729

59
729
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FIR Wm (03) v % fag feafRa
TRERA-ge W RER A

[=e  Jo-20]2040]40-60] 60-80 |s0-100
_ﬂﬂdﬁﬂ_ 17 [pra| 32 [p-3q] 19

T RERAT 120 | 7T S0 R
8S. pRARTR ?

(@) 25

®) 26

© 27

) 28

89. g WAM TR ?
@ 1
®) 2
() 3
@ 4

90. 7R wRw FET H FRARA G R &
T, | AT 1B ?
(@ 25
®) 50
© 75
d 100

91. .1 d

o (sinx+ oOvan

1
@ 3
92. _.Ami‘_.vn_s?omkvuu:& frrs ST

7

(a) ~tanx+c
®) 2<Jtanx+c
© eotx+c
() 2tanx +¢

93.aR ~_n.-. LAl %n:u.— @

e +e” e +1

%, Q1+ LT R R ?
(@) W+n

®) x+c

() In(e*+e™)+c

d) In(e*—e™)+c

94. _.-_P&W_A_Wﬂaﬂw ?
-2 1X]

@ -2
® -1
) 1
@ 2

95. sindx + 2x % fr sawH R/%, Wl
o<x<Z%?
2
@ 1
®) 2
() 4
@ 8

32

Consider the following fre :
pution for the next three «Mwwn:mw distri.
follow : ems that

20-4¢

The total frequency is 120, The mean is 50,

88. What is the value of p ?
(@ 25
(b) 26
() 27
(d) 28

89. What is the value of ¢ ?
@ 1
®) 2
() 3
@ 4
90. If the frequency of each class is

doubled, then what would be the
mean ?

(@ 25
®) 50
() 75
(d) 100

91. What i g &
. What is _.o AmEa+oomuv~

equal to ?

@ -1

® 3

33

(© 1

53
A&M

92. What is ?a?b\ﬁ?ﬁ&éukx equal
to?

(a) tanx+c
(b) 2tanx+c

(c) ~Jeotx+c

(d) V2tanx+c

9.1 1, - [ L& o L[5,
then what is I; + I, equal to ?
x
(a) m+n
®) x+c
() In(eF+eN+c
@ In(eF—eM+c

94. What is [* X dx equal to ?
-2 11

@ -2

®) -1

@© 1

@ 2

95. How many extreme values does

sindx + 2x, where 0 <x < W have ?
@@ 1

®) 2

©) 4

) 8

D - SDFR-S-HTM



AT/ ()= F:u.“.no:.

TR R, W 0<x<T ¥ e

(@)

=

®)

© 1
) 2

-

97.af}

w1 S

are)-r (L) =(2s+ L) (212,

W £(2) e sa R ?
@ o
®) 1
© 2
W) 4

98. af¥ f(x) = 4x + 38, fofef (-1) fra

TR R ?
@ -1
®) 0
© 1
@ 2

99.7R ) =1%, A& (1, ) ® mwi
TR R?
@ -1
®) 0
© 1
@ 4

= BSDFR-S-HTM - D

34

100.3R y=()' 8 Mx=1W mw.ﬂ A

R

@ 1
®) 1
() 2
@ 4
101, 7 R y =[x + 1], -4 <x <-3, 5%

[] FETH S W R 1 x=-3-5W x
¥ Eou F y F IaFAS TR ?

(@) —4

®) -35

(© -3

@ o

102.aR Wuﬁ:&& Sl p(0) =1InS ®, A
(1) fFad =R ® ?
(@ 0
® 5
(c) 2in5
@ 5ins
103. % f(x) = 10* & =g & Frafafea
ﬂmﬂnﬁ.@ﬁ"
1. SHH WA (—e0,0) ¥
2. 7% T WA
3. qg x = 0 W @I &
Ieh F A FA-d A W/ E ?
(a) Fad 132
(b) Wae 23R 3
(c) et 131K 3
@ 1,23R3

96, What is the maximum vojye o
function f(x)= 1 =
tanx+corys Where

oAkAW.N

@

al—

®

©
@

N= N

97. If -
a\onvl\m& uh~a+$ Txn&.
then what is £(2) equal to ?
@ 0
@) 1
AOV. 2
@ 4
98. If f(x) =4x + w. then what is fefof (-1)
equal to ?
@@ -1
®) 0
@© 1
@ 2
99, If 1y = 1, then what is m at (1,1
equal to ?
@ -1
®) 0
© 1
@) 4

35

100. 1f y = (x*)%, then what is the value of
[
dx
(a)

()
(©
(d)

101. Let y =[x+ 1], -4 <x<-3 where []
is the greatest integer function. What
is the derivative of y with respect to x
atx=-3-57?
(a) -4
(®) -3-5
@© 3
@ o

atx=17

BN = N

102. 1 Wn?&e with y(0)=In5, then
what is y(1) equal to ?
@ 0
®) 5
© 2in5
@ 5ins

103. Consider the following in respect of
the function f(x) =107:
1. Its domain is (-, )
2. 1t is a continuous function
3. It is differentiable at x=0

‘Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1and3 only
(d 1,2and3
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104. m_luvw 23 (cosec x)? frrd sRR ® ?

@ o
® 3
() 1
(@) @ = iR T R

105. _E_Ql‘w.dwnmauﬂw ?

@ 0
® 3
) 6
(d) @ = Sfer T ©

I @ (03 W & fm feffe )

R fiftr :

T Gr+hy+3z-12=0, & k=0 ®,
s o F A 4, B IR CR Hedr
R | Efig 3K 4, B, C { TRA I WA F
WHE 242+ 2 -2 —3y—4z=0% |

106, kFT AF FT R ?

@ 3

36

aft p e B ¥ A T W g
_Sw.muwjgamwuﬂ.ﬁd%ww

(@ 0<p<05
®) 05<p<l
() 1<p<15

d p>15

-c@.%@%%wwmwuﬂwi
@ R R ?
@ x=y=z
(b) 2x=3y=4z
() 6x=3y=4z
(d) 6x=4y=3z
S 2 (02) W % forg Frefifea ) few
mmi/ﬂﬁn '
am P @ N»|x+muk+wuw. fog
2,3,-6 TRAT ¥ |

_ae.gﬂi%wﬂmﬂﬁﬂm
g ?

@ <3,2,1>
®) <2,3, 6>
© <6,3,2>

@ <1,2,3>

104. What is ‘__“_lﬁg * (cosec P equal to 9

(@ O

1
®) 3
@© 1

(d) Limit does not exist

105. What is m_uﬂ Mll__ equal to ?
@ 0
® 3
© 6

(d) Limit does not exist

"Consider the following for the next three

(03) items that follow :

The plane 6x + ky +3z— 12 =0 where k=0
meets the coordinate axes at 4, B and C
respectively. The equation of the sphere
passing through the origin and 4, B, C is
X4y +22 2 —3y—4z=0.

106. What is the value of k?
@ 3
® 4
@ 6

@ 12
37

107. 1f p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct 7

(@ 0<p<0s5
®) 05<p<1
) 1<p<1s5

@ p>15

108. What is the equation of the line
through the origin and the centre of the
sphere ?

@ x=y=z
(b) 2x=3y=4z
(©) 6x=3y=4z

) 6x=4y=3z

Consider the following for the next two (02)
items that follow :

Let the plane Nﬂk+uq\< wuw pass through

the point (2, 3, -6).

109. What are the direction ratios of a
normal to the plane ?

(@ <3,2 1>
() <2,3, 6>
() <6,3,2>
@ <1,2, 3>
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10,38 W wEw T P s W
T QSR TR p, ¢ I E

R (p+g+r)Frad R ?
(@ 10
®) 11
(c) 12
@ 13

E.uﬂhi..-%mﬂm?&h»”%%u
Ry § @ p 3R g & §W WH

AW W4T E ?
@@) 41
® 1,4

@53

@ 3

wioo

112. ot fh P 4BCH i 4, B3R C
& faufy afew s m..lv.um.mm %
#R G 7@ P & w2, A AG
foras R ® ?

@ 3+b+2

3

38

113, Freffea wwl W RE Bl

1. oy RS, Ry AR W
TS ®

2. wfiw OEER, WA ATE W
HEATHE ©

3. gialt = wRv R wEEl
o '

g # ¥ A /FA-Y T @

/87

(a) ¥aa 1

) Fad 2

(c) Fad 132

@ 1,23R3

114. 57 ST 7, 5 dR ¢ @9 @R
whu TR E faxb=2C 2 | o
frfafaa Faat | RER Aty -

Lok 3 R 2 Rgm E QT
afitr ®

2.aR @ sk b Ry wg ¥ @ ¢
Ffeeta &

IEE § A SA-A1/HA-R T w
/€7

() ¥ 1

() FFw2

(© 13R2gHt
@ aNL,TA2

110. If p, ¢ and r are (he inter,
by the plane on the ooo_.mmo_._v“w made
respectively, then what s ( € axeg
equal to 7 Ptq+r)

(a) 10
®) 11
© 12
@ 13

LI 4 47=3k and piegiigp .o
collinear vectors, then what are the
possible’ values of P and
tively ?

@ 4,1

®) 1,4

g respec-

©

Wiy W
wjoo W

@

- P >
112. If a, b, ¢ are the position vectors of
the vertices 4, B, C respectively of a
triangle ABC and G is the centroid of
the triangle, then what is AG equal
to?

@ 4xbic

39

113, Consider the following statements :

1. Dot product over vector addition
is distributive

2. Cross product over vector addition
is distributive

w

. Cross product of vectors is asso-
ciative

Which of the above staternents is/are
correct ? :

(a) 1 only
() 2 only
(c) 1 and 2 only

(@ 1,2and 3

- D

114. Let a, b, ¢ _umvabdn non-zero vectors
such that @x b = ¢. Consider the fol-
lowing statements :

= . o w2 - o

1. a isuniqueif b and c are given
- . = g 3 .

2. ¢ isunique if @ and b are given

‘Which of the above statements is/are
correct ?

(a) 1 only

(®) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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117. 7% W ¥ WE g9 (3a) F AIET

i . ﬁaﬂﬁiﬂéﬁuéfnm
115, 7R g 7 3R ?&m”m%za :@Hﬂ&mw%wﬂsz,im.%
|

B |2-pl<2 t1aR @ D
M*meﬁuynsum_w.&mﬁgmmw Au e 7
- e R ? o
(a) ¥« 0<sinf<1

1 1 o 5

®) wﬂmlmAmimAm
© 7

©) ¥ -1<sin<0
(G —1<sinf<1 @ 9

116.1,2,3, 4,57 ¥ A siw argfos = 119, T FHiGR ft (AP) % 50 TR H TR

o & SR R 3 I e e T SN R AR 98 4 3R ad
o 2 1 <@ = vt @ AR ?
o O S S 03T ? A
® L @ 50
o 1 &=
3
(©) 100
© % :
@ 102
@ % !

120. 21, 34, 23, 39, 26, 37, 40, 20,33, 27 %
wren e i (e | T @)

s T (TR A §Y) w7

iR frem & ) @ @ 7 e T

T e & ? @ 011
wfer > Jgas

@ B ®) 022

(b) WA > TgEE > HITCH

(¢) e > W > agEw (c) 033

d) mm«_ﬂv.n._.mm/m_ﬂ > Hieq d) 044

SDFR-S-HTM - D 40

115.

116.

117.

=5 -

Let a s:ﬁ@ be two unit vec
that [d-|<2. 1f 29 ;
between @ and w

10r3 such 118. The variance of five positive observa-
s the angle tions is 3-6. If four of the observations

) » then which one of are 2,2, 4, 5 then what is the remaining
the following is correct 7 observation ?
(@ 0<sin0<| only @ 4
®) ~5 <sino <1 ony
. ® 5
() -1<sinf <o only
(d) -1<sinf <1 © 7
Two digits out of 1, 2, 3, 4,5 are @9

chosen at random and multipli
% iplied
together. What is the probability that 119. What is the arithmetic mean of 50
Goo_.wmn digit in the product appears " terms of an AP with first term 4 and
as 07
common difference 4 ?

1
@ 15 @ 50
® 1 ® s
© % © 100
4 102
@ m (d

120. What is the coefficient of mean devia-
tion of 21, 34, 23, 39, 26, 37, 40, 20,
33, 27 (taken from mean) ?

The frequency curve (assuming uni-
modal) corresponding to the data
obtained in an experiment is skewed to
the left. What conclusion can be drawn

from the curve ? (a) 011
(a) Mean > Median > Mode & 1
(b) Mean > Mode > Median

A (c) 033
() Median > Mean > Mode
(d) Mode > Median > Mean 5 Qv 0-44
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